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Division (International) with a Helper Grid

Name:

Solve each problem.

1) 869 : 3 = 2)
3 504 : 7 = 4)
5 275 : 5 = 6)

1009 :

648 :

647 :

Answers
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Division (International) with a Helper Grid Name: Answer Key

Solve each problem. Answers
1) 869 : 3 =2809r2 2) 109 : 2 =054r1
-6 -0 1 289r2
26 0
-12/4 -1/0 2 54r1
29 09
- 2|7 -8 3. 72
2 1
a 8l
5, 55
6. 107r5
3 504 : 7 =072 49 648 : 8 =081
-0 -0
50 6 4
49 164
14 08
-11/4 -8
0 0
5 275 : 5 =055 6) 647 : 6 = 107r5
-0 -6
2,7 0 4
-2/ -0
2|5 47
-12/5 - 142
0 5
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